
1. BOX HEADER - (2) 6" x 20 GA.
STEEL STUD  UP TO (10' MAX
OPENING)- (2) 3 5/8" x 20 GA.
STEEL STUD  UP TO (3' MAX
OPENING)

2. BOT TRACK (SIZE AND GA. PER
PLAN)

3. WALL STUDS (SIZE AND GA.
PER PLAN)

4. CUT AND COPE BOX HEADERS
TO ALLOW FOR A MIN. OF A 1"
FLANGE W/ (6) #10 TEK
SCREWS IN TO STEEL STUD
(EACH SIDE)

5. FASTEN THE BOT TRACK TO
BOX HEADER W/ (2) #10 TEK @
12" O/C

1

2

2

5

5
5

3

4

4

1

5

2

4

3

1. WALL PARTITION (SEE PLAN)
2. HOLLOW METAL FRAME
3. SOUND SEALANT
4. DOOR PANEL
5. GYPSUM BOARD PER PLANS
6. (2) 6" 25 GA. HDR. (10'-0" OPENING MAX)

(2) 3 5/8" 25 GA. HDR. (3'-0" OPENING
MAX)

6

D300
70

1. CENTERLINE OF DOOR AND THRESHOLD
2. METAL THRESHOLD (ACCESSIBLE) SEE

AUTOMATIC DOOR MANUFACTURER FOR
APPLICATION AND PART

3. FINISHED SURFACE
4. STORE FRONT DOOR SYSTEM
5. BED OF SEALANT
6. DRAFT STOP

1
/2

" 
M

A
X

1

2 3

4

5

6
INTERIOREXTERIOR 1

0
" 

M
IN

.

1. WALL PARTITION (SEE PLAN)
2. PRESSED STEEL DOOR FRAME
3. SOUND SEALANT
4. DOOR PANEL
5. GYPSUM BOARD PER PLANS
6. (2) 6" 25 GA. HDR. (10'-0" OPENING MAX) -

(2) 3 5/8" 25 GA. HDR. (3'-0" OPENING MAX)

1

5

2

4

3

6

D300
70

1. WALL PARTITION (SEE PLAN)
2. PRESSED STEEL DOOR FRAME
3. SOUND SEALANT
4. DOOR PANEL
5. GYPSUM BOARD PER PLANS
6. (2) 6" 25 GA. HDR. (10'-0" OPENING MAX)

- (2) 3 5/8" 25 GA. HDR. (3'-0" OPENING
MAX)

1

5

2

4

3

6

D300
70

1. WALL PARTITION (SEE PLAN)
2. PRESSED STEEL DOOR FRAME
3. SOUND SEALANT
4. DOOR PANEL
5. GYPSUM BOARD PER PLANS
6. (2) 6" 25 GA. HDR. (10'-0" OPENING

MAX) (2) 3 5/8" 25 GA. HDR. (3'-0"
OPENING MAX)

1

5

2

4

3

6

D300
70

0' - 4"

0
' -

 4
"

A. EQUIPMENT OR
CASEWORK (SEE PLAN)

B. 3/8" RADIUS INTEGRAL
SEAMLESS EPOXY
SPOON COVE, TO BE
SMOOTH

C. SEAMLESS EPOXY
FLOORING, TO BE
SMOOTH UNDER ALL
EQUIPMENT

D. CONCRETE FLOOR SLAB
(SEALED)

1
' -

 0
"

A. 5/8" GYPSUM BOARD SUBWALL
B. FINISH MATERIAL (SEE PLANS)
C. SEALANT
D. PLYWOOD SUBBASE
E. 3/8" RADIUS INTEGRAL

SEAMLESS EPOXY SPOON
COVE TO BE SMOOTH

F. SEALED CONCRETE FLOOR
SLAB

G. SEAMLESS EPOXY FLOORING

1. CONCRETE FLOOR SLAB
2. SEAMLESS EPOXY FLOORING

(1/8" - 1/4" THICKNESS RANGE)

1
/4

" 
M

A
X

.

0
' -

 6
"

0
' -

 6
"

0
' -

 6
"

0
' -

 6
"

A. GROUTED
B. TILE BASE
C. 1/8" MAX. GROUT JOINT
D. CERAMIC TILE FLOORING
E. WATER PROOF MEMBRANE UNDER TILE AND 4" UP BASE
F. RUBBER BASE
G. WALL FINISH (SEE PLAN)
H. METAL TRIM
J. SHEET VINYL BASE
K. PROVIDE CONTINUOUS COVE STRIP
L. WATER PROOF MEMBRANE UNDER SHEET VINYL AND UP  WALL 6"
M. SHEET EPOXY BASE
N. SHEET EPOXY

TILE BASE RESILIENT BASE

EPOXY BASESHEET VINYL BASE

R 0' - 1" R 0' - 1"

MITER CORNERS
WITH FULL
PENETRATION
WELD ALL
AROUND

PRIOR TO SAWCUTTING, CORE
4" DIAMETER HOLE IN EACH
CORNER.  NO OVERCUTTING IS
PERMITTED AT CORNERS

DOOR FRAME
(SHOWN DASHED)

CONCRETE TILT-UP
WALL

1. ALUMINUM STOREFRONT SYSTEM
2. 6" x 20 GA. STEEL STUDS @ 24" O/C
3. "L" TRIM AND SEALANT
4. SHIM SPACE
5. 5/8" GYPSUM BOARD
6. 1/4" CLEAR GLAZING
7. "BULLNOSE" TRIM
8. #10 X 2-1/2" PAN-HEAD SHEET METAL SCREW 5

PER JAMB - HEADER SECURED WITH #14 X 1
1/2" HEX-HEAD SHEET METAL SCREW ( 5
PLACES MIN. )

9. 7/8" EXTERIOR CEMENT PLASTER WITH PAPER-
BACKED WOVEN WIRE FABRIC LATH (3 COATS
MINIMUM) SAND FINISH. PROVIDE TWO LAYERS
OF GRADE "D" PAPER OVER SOLID 1/2"
PLYWOOD (OR OSB) SHEATHING. (USE HIGH
RIB LATH AT HORIZONTAL APPLICATION)

1

6

9

2

3

4

3

5

7

8

1

6

2

3

4

3

8

1. ALUMINUM STOREFRONT SYSTEM
2. 6" x 20 GA. STEEL STUDS @ 24" O/C
3. "L" TRIM AND SEALANT
4. SHIM SPACE
5. 7/8" STUCCO FINISH
6. 1/4" CLEAR GLAZING
7. "BULLNOSE" TRIM
8. 20 GA. BOX HEADER
9. #10 X 2-1/2" PAN-HEAD SHEET METAL

SCREW 5 PER JAMB - HEADER SECURED
WITH #14 X 1-1/2" HEX HEAD SHEET METAL
SCREW ( 5 PLACES MIN.)

10. 7/8" EXTERIOR CEMENT PLASTER WITH
PAPER-BACKED WOVEN WIRE FABRIC
LATH (3 COATS MINIMUM) SAND FINISH.
PROVIDE TWO LAYERS OF GRADE "D"
PAPER OVER SOLID 1/2" PLYWOOD (OR
OSB) SHEATHING. (USE HIGH RIB LATH AT
HORIZONTAL APPLICATION3

11. 26 GA. FLASHING AND DRIP EDGE

10

5

7

9

3

M
IN

.

0
' -

 0
 1

/2
"

1. STAIR WITH STEEL STRINGERS AND
PRECAST CONCRETE TREADS

2. 1 5/8" ANCHOR 3" EMBEDMENT
3. CONCRETE FILLED METAL PAN
4. CONCRETE SLAB (SEE PLAN)
5. SMOOTH 1/2" ROUNDED AND BEVELD

EDGE PER 11B-504.5 TYP.

1" M
IN

.

1' - 0"

1" MIN.

MIN.

0' - 11"

M
A

X

0
' -

 7
"

0' - 1"

1

2

3

3

5

0' - 1" MIN.

MIN.

0' - 11"

M
A

X

0
' -

 7
"

1. STAIR WITH STEEL STRINGERS AND
PRECAST CONCRETE TREADS

2. 5/8" BOLTS TO FLOOR BEAM (SEE
STRUCTURAL)

3. CONCRETE FILLED METAL PAN
4. 5/8" TYPE "X" 4. GYPSUM BOARD AT ALL

USEABLE SPACE UNDER STAIRS
5. CONC. PAN DECK FLOORING.
6. FLOOR SYSTEM PER PLAN WELD

STRINGER TO ANGLE OR C CHANGEL PER
PLAN

7. STEEL BEAM PER PLAN
8. SMOOTH 1/2" ROUNDED AND BEVELD

EDGE PER 11B-504.5 TYP.

1" M
IN

.
1' - 0"

1

5

4

6

7

1/4

8

1. ALUMINUM STOREFRONT SYSTEM
(ARCADIA AG451) OR EQUAL

2. 1/4" CLEAR GLAZING
3. DOOR PER SCHEDULE
4. 1" TEMPERED GLASS

4

3

1

2

0' - 2 1/4" 0' - 2 1/4"

0' - 4 1/2"

0
' -

 0
 1

/8
"

5

1. CONCRETE WALL
2. EXTERIOR CEMENT PLASTER
3.  METAL STUDS AT 16" O/C (WHERE OCCURS)
4. INTERIOR FINISH (WHERE OCCURS)
5. SEALANT
6. HOLLOW METAL DOOR FRAME
7. HOLLOW METAL DOOR
8.  MASONRY WALL WITH STUCCO FINISH TO BE

REMOVED
9. 26 GA. G.S. HEAD FLASHING OVER DOOR

FLASHING. FORM TIGHT TO DOOR FRAME.
EXTEND 1 1/2"  BEYOND DOOR JAMB

1

2

3

4

7

6

9

8

4

2
" 

M
IN

.

BY MFG
VARIES

1
/4

" 
.

3
' -

 6
"

1. 1" Ø SCH. 40 GALVANIZED PIPE
INTERMEDIATE RAIL (PAINT) NO MORE
THEN 4" CLEAR.

2. 1-1/2" Ø SCH. 40 GALVANIZED PIPE
POSTS @ 4'-0" O/C (MAX. PAINT)

3. TOP OF  CURB
4. 4 1/2" x 4 1/2" x 1/4" THICK SQ. PLATE
5. 3/8" Ø x 4" LONG TAPCON LARGE

DIAMETER SCREWS
6.  6" CONCRETE STEM WALL
7.  A.C. PAVING & BASE
8. FULLY WELD ALL CONNECTIONS AND

GRIND SMOOTH
9. 1 1/2" Ø SCH. 40 GALVANIZED PIPE TOP

AND BOT RAIL (PAINT)
2

9 3

0
' -

 4
 1

/2
"

0' - 4 1/2"

0' - 0 3/4"

0
' -

 0
 3

/4
"

4

4

5
5/16

TYP.

0
' -

 4
"

8

3
' -

 2
"

M
A

X

0
' -

 4
"

2

4' - 0"

1

1. ALUMINUM STOREFRONT SYSTEM
(ARCADIA AG451) OR EQUAL

2. 1/4" CLEAR GLAZING
3. HORTON AUTOMATIC DOOR PER PLAN
4. TS 4"x3"x1/4" COL. TYP.
5. TS 4"x3"x1/4" HEADER TYP.
6. 7.25” ALUMINUM BREAK METAL COVER
7. 5.25” ALUMINUM BREAK METAL COVER
8. 2" x 2" x 1/8" CLIP ANGLE W/ (2) 1/2” M.B.

0
' -

 1
"0
' -

 1
"

0
' -

 1
 1

/2
"

0
' -

 1
 1

/2
"

0
' -

 1
"0
' -

 1
"

0
' -

 2
"

0
' -

 3
"

0
' -

 2
"

0' - 1 17/32"0' - 1 15/32"

0' - 3"

3

0
' -

 2
"

0' - 2"

EQ EQ

E
Q

E
Q

2

1

5

1

1

1

4

2

7

5

8
5

4

8

8

8

0
' -

 7
"

0' - 7 1/4"

0
' -

 3
"

0' - 2" 0' - 3" 0' - 2"

0' - 2" 0' - 3" 0' - 2"

0
' -

 4
"

3

0
' -

 3
 1

/2
"

0' - 2"

0
' -

 2
"0

' -
 1

 1
/2

"

PLAN

1. ALUMINUM STOREFRONT SYSTEM
(ARCADIA AG451) OR EQUAL

2.  2x WALL PER PLAN
3. TS 4"x3"x1/4" COL.
4. 1/4" CLEAR GLAZING
5.  SMOOTH COAT STUCCO
6. 1 1/2" x 3 1/2" x 1/8" CLIP ANGLE W/

-(2) E/S 1/4" TOGGLE BOLTS THRU CEMENT PLASTER  @ 24" O/C OR
-(2) E/S 1/4" x 3" LAG SCREW INTO SOLID 2x BLOCKING  @ 24" O/C

7. 7.25” ALUMINUM BREAK METAL COVER
8. 1/2” x 3” M.B.

3

5

2

11

44

6

6

6
6

7

8

0' - 7"

0
' -

 4
"

0
' -

 0
 1

/2
"

0
' -

 0
 1

/2
"

0
' -

 0
 3

/4
"

0
' -

 1
 1

/2
"

0
' -

 0
 3

/4
"

0' - 1"0' - 1" 0' - 1"0' - 1"

1. ALUMINUM STOREFRONT SYSTEM
(ARCADIA AG451) OR EQUAL

2. 1/4" CLEAR GLAZING
3. TS 4"x2x1/4" COL.
4. 1 1/2" x 3 1/2" x 1/8" CLIP ANGLE W/ (1) 3/8" x 3" KWIK BOLT
TZ EXPANSION  ANCHOR ICC-ES REPORT

ICC-ESR 1917. SPECIAL INSPECTION REQUIRED
5. 3/16" PLATE WELDED TO STEEL REINFORCEMENT
6. CONC.
7. DOOR JAMB PER PLAN
8. 1/2” x 4” LONG M.B.
9. 7.25” ALUMINUM BREAK METAL COVER

1
2

3

4

5

1

6

7

0' - 0 3/4" 0' - 3"

0' - 0 3/4"

0' - 0 3/4" 0' - 0 3/4"

0
' -

 1
 1

5
/3

2
"

0
' -

 1
 1

7
/3

2
"

0
' -

 3
"

0' - 1 1/2"

0' - 3"

0
' -

 4
"

3

0
' -

 2
"0

' -
 1

 1
/2

"

0
' -

 3
 1

/2
"

0' - 1 1/2"

0' - 0 3/4" 0' - 0 3/4"

0
' -

 2
"0

' -
 1

 1
/2

"

PLAN

3

9

4

0' - 7"

0
' -

 2
"

1

4

55

1. ALUMINUM STOREFRONT SYSTEM
(ARCADIA AG451) OR EQUAL

2. 1" CLEAR GLAZING (TEMPERED WHERE
NOTED)

3. TS 4"x3"x1/4" JAMB TYP.
4. (2) #10 X 2" PAN-HEAD SHEET METAL

SCREW @ 24"O/C
5. #10 X 1" PAN-HEAD SHEET METAL

SCREW
6. ALUMINUM BREAK METAL COVER

2

4

55

3

1

2

0
' -

 2
 9

/1
6
"

0
' -

 5
 7

/8
"

0
' -

 2
 9

/1
6
"

0
' -

 1
1
"

0
' -

 7
 1

/4
"

B
IT

E

0
' -

 0
 9

/1
6
"

B
IT

E

0
' -

 0
 9

/1
6
"

4

1. ALUMINUM STOREFRONT SYSTEM (ARCADIA AG451)
2. 1/4" CLEAR GLAZING
3. (2) 1/4" TOGGLE BOLTS THRU CEMENT PLASTER OR (2)
1/4" x 3" LAG SCREW INTO SOLID  2x BLOCKING
4. MULLION CLIP (PER MANUFACTURER )
5.  STUCCO WALL

5

1

3

2

1

1
2

5

0' - 4 1/2"

4

1

5

2

3

1

1

2

5

0' - 4 1/2"

6

6

VERTICAL CON.

HORIZONTAL CON.

4

4

2

1

1. STORE FRONT GLAZING
2. ALUMINUM STOREFRONT SYSTEM
3. SEALANT
4. SHIM SPACE
5. NEW 8" CONC. CURB
6. SAWCUT  CONC. SLAB TO EMBED NEW

CURB
7. CONC. SLAB
8. EXPANSION JOINT
9. 3/8" x 3" KWIK BOLT TZ EXPANSION @

24"O/C ANCHOR ICC-ES REPORT # ICC-
ESR 1917 SPECIAL INSPECTION
REQUIRED

3

7

0' - 2 1/4" 0' - 2 1/4"

0
' -

 4
"

9

0
' -

 2
"

M
IN

. 
B

IT
E

0
' -

 2
 9

/1
6
"

0' - 4 1/2"

3

8

1. ALUMINUM STOREFRONT SYSTEM
(ARCADIA AG451) OR EQUAL

2. 1" CLEAR GLAZING

1

2

2

0' - 4 1/2"

B
IT

E

0
' -

 0
 9

/1
6
"

B
IT

E

0
' -

 0
 9

/1
6
"

5
"

LAMINATED PLASTIC SURFACE
TOP & SPLASH OVER 3/4"
PLYWOOD SUB TOP

SEE WALL TYPE FOR CONST.

2x WOOD STUD WALL @ 16" O/C

3" TACK
WELD, TYP.

METAL SINK
BRACE

3/8" DIA. M.B. W/NUT &
WASHER TYP.

FINISH PER INTERIOR

3
'-
4
" 

M
A

X
.

2
'-
5
"

A
.F

.F
.

6
"

EQ EQ

0
' -

 2
 3

1
/3

2
"

2
4
" 

M
IN

.
0
' -

 2
 3

1
/3

2
"

242 E. AIRPORT DRIVE, SUITE 212 - SAN BERNARDINO, CALIF. 92408

PHONE (909) 884-7090          FAX (909) 884-7090

S.D.ENGINEERING AND ASSOCIATES

LAND PLANNING AND CIVIL ENGINEERING

D300
Door / Window &

Finish Details

Recycling Center For:

2192 W. HIGHLAND AVE. SAN

BERNARDINO, CA 92407

6-31-14

13-940

HOISTON INT'L

ENTERPRISES INC.

 3" = 1'-0"

Box Header
70

 3" = 1'-0"

Door Head Interior - HM
76

 3" = 1'-0"

Accessible Threshold
74

 3" = 1'-0"

Door Head Interior - HWD
71

 3" = 1'-0"

Door Head Interior - PS
72

 3" = 1'-0"

Door Head Interior - SC
73

 3" = 1'-0"

Base @ Case
64

 3" = 1'-0"

Epoxy Cove Base
65

 3" = 1'-0"

Epoxy To Concrete Transition
63

 3" = 1'-0"

Typical Bases Detail
67

 3/4" = 1'-0"

08 - 100A - Door Elevation @ CMU
82

 3" = 1'-0"

Window Jamb
69

 3" = 1'-0"

Window Head
68

 3/4" = 1'-0"

Steel Stairs
60

 3/4" = 1'-0"

Steel Stairs
61

 3" = 1'-0"

Door Head & Jamb At Window
78

 3" = 1'-0"

Hollow Metal Door
77

 3/4" = 1'-0"

Guardrail Detail
62

 3" = 1'-0"

Steel Connection
83

 3" = 1'-0"

Steel Reinforced Clip @ Top
84

 3" = 1'-0"

Steel Reinforced H.d. To Conc.
85

 3" = 1'-0"

Stl Reinforced Window Mullion
86

 3" = 1'-0"

Window Mullion To Wall
87

 3" = 1'-0"

Window Sill W/ Curb
80

 3" = 1'-0"

Window Typical Mullion
79

 1 1/2" = 1'-0"

Counter Top
66

1

1

1

Revision

Number Description  Date

1 Plan Check #1 8-26-2014

4 Plan Addendum  # 1 3-2-2015

4

4

4

4

4


	Sheets
	A200 - Demo and Existing
	A201 - Floor Plans
	A300 - Schedules
	A400 - Elevations & Roof Plan
	A401 - Exterior Elevations
	D300 - Door / Window & Finish Details
	D400 - Details


